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Math (Science)
Time: 20 Min.

Four possible answers A, B, C and D to each question are given. The

choice which you think is correct, fill that circle in front of that question
with Marker or Pen ink in the answer -book. Cutting or filling two or more

circles will result in zero mark in that question.
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KL H.CFof a-b’ and a’ b’ is........
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m If x is no larger than 10, then ........

A X228 8 x<10

c X< 10 0 X >10
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m The right bisectors of the three sides of a triangle are......
A Congruent B Collinear :
¢ Concurrent D Parallel
IB A point equidistant from the end points of a line segment is on
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